0907431 Performance Evaluation and Modeling (Fall 2003)

First Exam

الاسم:




رقم التسجيل:
 

رقم الشعبة:
===========================================================================

Instructions: Time 50 minutes. Closed books and notes. No calculators. Use the exam sheet for your answers. No questions are allowed. For multiple-choice questions, put an “x” mark for the best answer.

Good Luck!

Q. To study the performance of a network gateway, several experiments were carried where the packet size was varied. The common mistake here is:
( Ignoring significant factor
( Wrong evaluation technique
( Biased goals
( Inappropriate level of detail
( No sensitivity analysis


Q. When running an application for 5 times, the engineer recorded 10, 11, 10, 100, and 9 seconds execution times. The engineer reported a mean value of 28 seconds. The common mistake here is:
( Incorrect performance metric

( Unrepresentative workload

( Improper treatment of outliers

( Omitting assumptions and limitations

( No analysis


Q. The methodology you would choose to select and purchase 100 workstations for your company is:
( Analytical modeling

( Simulation


( Measurement

( All of the above

( None of the above


Q. A server was operated for a period of 4 days starting at noon on a Sunday and ending at noon on the next Thursday. The server was put off-line each day at 11 am for 1 hour to perform periodic maintenance. The MTTF based on this operation is:
( 0 hour

( 1 hour

( 23 hour

( 24 hour

( 4 days


	Q. The diagram to the right shows the typical system performance versus its load. The response time starts to increase significantly at:
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Q. You wish to buy a network component to handle an average traffic of 10 Mbits/s and you are interested in getting a good response time. The component under consideration is rated at 100 Mbits/s. In your evaluation experiments, you are most likely going to measure the response time at a loading level of:
( 1 Mbits/s
( 10 Mbits/s
   ( 100 Mbits/s
( 150 Mbits/s
( All of the above

Q. For the following performance numbers, if you are the manufacturer of System A, you are most likely going to claim that your system is better than System B by:

( 0%
( 8%

( 33%

( 50%
( Non of the above
	
	System A
	System B

	Benchmark I
	1.5
	1.0

	Benchmark J
	1.0
	1.5


	Q.
 A network router takes the response times shown below for the 7 packet sizes. In the space provided to the right, draw an appropriate chart to show the correlation between the response time and packet size. Use the guidelines you have learnt in this course to prepare a good chart.

Packet size (Bytes)

1

10

15

21

25

26

30

Seconds

2

20

31

40

48

50

61


	


Q.
 Using the basic gates available in lib431.v, write in the space provided below a Verilog module (structural model) that implements a 2-input exclusive-OR gate.

	Q. The graph shown to the right has 4 main mistakes. List these mistakes.
Mistake 1: …………………………………………………………
Mistake 2: …………………………………………………………
Mistake 3: …………………………………………………………
Mistake 4: …………………………………………………………
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